
Questions flashs

Développer et réduire l’expression

A = (x − 3)× 4 − (x − 3)2

Mettre sous forme canonique

B = 9x2 − 54x + 65

Bonus factoriser ces 2 expressions.



Correction

A = 4x − 12 − (x2 − 6x + 9)

= 4x − 12 − x2 + 6x − 9

= −x2 + 10x − 21

B = 9x2 − 54x + 65

α =
−b
2a

= 3

β = −b2 − 4ac
4a

= −36 + 38
4

= −16

B = 9(x − 3)2 − 16



Bonus

A = (x − 3)× 4 − (x − 3)2

= (x − 3)(4 − x + 3)

= (x − 3)(−x + 7)

B = 9(x − 3)2 − 16

= [3(x − 3)]2 − 42

= (3x − 9 − 4)(3x − 9 + 4)

= (3x − 13)(3x − 5)


